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1. Normal production capacity of the Yug Ltd. is 10,000 units per year. The information

related to cost for the year 2022-23 is as below : 14

Particulars : B 4

Selling Price per unit 150

Variable Expenses per unit :

Direct material 50

Direct labour . 20

Factory Overheads 10

Yearly Fixed Costs :

Factory expenses 1,50,000

Administrative expenses - 2,25,000

Selling and distribution expenses 1,15,000

Sales Commission is payable at 2% on actual sales proceeds.. Other details of the
company for the year 2022-23 are as below :

Opening Stock : 3000 Units
Actual Production: 12000 Units
Closing Stock : 4000 Units

Prepare statement under Absorptio
year 2022-23 and find the profit. Al§o prepare reconciliation statement of both the

profit. +
. OR '
Ayushi Ltd. provides you the following information for the year 2022-23 : | 14
. g
Sales - 12,00,000
Variable Costs -~ _9,00,000
Profit 62,500

Calculate ; |

(1)  Profit-Volume ratio

(2) Fixed cost '

(3) Break-even-point <)

(4) Margin of safety in () and (%) .

(3) . Sales requifed to earn €xpected profit of ¥ 81,000 in the next year
(6) " Sales required to earn 12.5% profit on sales price in the next year

(7). /Salés required, if fixed cost is increased by 20% and margin of safety is to be
| maintained at 20%.
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Arya Ltd. produces and sells three products X, Y and Z. It provides the following

2.
information : . . 14
Particulars X Y
(1) Maximum market den}and of the product (Units) 10000 | 15000 | 16500
(2) Selling price per unit (%) 95 192 239
(3) Raw materials per unit () 20 24 32
(4) Labour per unit (%) 30 70 90
(5) Variable overheads per unit (%) 15 35 45
Price of raw material per kg is T 4 and Rate of labour per hour is ¥ 10. The company
uses same materials and workers for all the three products. Total fixed expenses are
estimated to ¥ 15,00,000. |
Calculate the best production mix in each of the following two independent eases and
find out profit : . ' -
(i) When maximum available Material is only 2,34,000 kilograms
(ii) When maximum available Labour time is only 2,43,000 hours.
- OR. ~
Answer the following questions :
(1) Bina Ltd. produces two products “Pride” and “Dréam”. The selling price of Pride
is T 500 per unit and variable cost is ¥ 400 perunit, The selling price of Dream is
- ¥ 250 per unit and variable cost is ¥ 200 per unit. 8 machine hours are utilized to
produce one unit of Pride, while 12 machine hours are utilized to produce one
unit of Dream. Only total 4,800 machine hours are available in the factory. The
company can sell only 450 units of Pride and 300 units of Dream in the market.
Determine the optimum (preduction mix of “Pride” and “Dream” to
maximize the contribution using graphical method of linear programming. T |
(2) Explain utilities of linear programming. v
| Rajvir Ltd.. works at 60% produetion capacity at present. The information of its
profitability are as follows & _ ' | 14
Particulars Yy < 3
Sales ~  16,00,000
Costs ;- — i
- . Direct material 1,80,000: -
Direet labour | 1,20,000 —
Variable overheads 30,000 -
Fixed overheads 1,70,000 | 5,00,000
Profit — 1,00,000

| T‘Pe company has been received an export order that would utilize 50% of the total
production capacity of the factory. The order cannot be divided. So that the order has either
to be taken in full and executed at 10% below the normal domestic Price or rejected tota]] y
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Capacity so as to aceept the expory order and
r an

estic sales by purchasing addji

1nc'rease production capacity by 10% and fixed cost by 7 ;{'Jl’r:]lneqnipment that will

0.

alternative.

Answer the following questions -

(A) Explain in detail “Lease or Buy” decision.
(B) Explain “Relevant costs” with its characteristics.

What is “Just in Time” (JIT) approach ? Discuss its characteristics and objectives in

detail.
OR
Answer the following questions :
(A) Explain in detail the concept of “Target Costing”.

(B) What is “Material Requirement Planning” (MRP-1) 2 Explain its objectives.

Select the correct answer from given alternatives of each question : (any seven) -

(1) Production cost under marginal costing is
(A) higher than absorption costing
(B) lower than absorption costing
(C) equal to absorption costing .
(D) None of these 3

(2) What is derived by using the ﬁ_:)]lnwing formula ?
= Fixed Cost Profit
(A) Break—even-_-point
(C) Margin of safety

(B) Contribution
(D) None of these

(3) . Production resources have mobility is implied as‘slump.ttmx:: 2;
(A) Historical Cost (B) OPPﬂl'ﬁf-’_I:l:)’ )
(C)  Sunk Cost (D) None of thes
_ Prof lvsis is the technique of |
X ?:)St -Cz:tlin;:ou:tri?lfgh i (B) Management Accounting
. ' h e .
(C) Financial Accounting (D) Allofthes
. 7

MG-104

concept.

14

-

14

P.T.O.



)

(6)

(7)

(8)

(9)

(10)

(11)

Linear Programming is useful for

(A)  Optimal decision making (B) Maximization

(C) Minimization (D) All of these

~Graphical method of linear programming is not useful when variables
are given.

(A) more than two - ~ (B) more than three

(C) more than one (D) None of these

When total sales amount of all product is a key factor, lprnﬁtability of a product is
decided on which of the following basis ?

(A) P.V. Ratio | (B) Contribution per hour
(C) Contribution per unit (D) Contribution per kilogram

The cost which has been incurred in the past and which is irrecovérable at this
stage is - -
(A) Sunk cost ) (B) Relevant cost
(C) Opportunity cost (D) None of these

“Just In Time” (JIT) has been developed by
(A) Toyota Company of Japan in 1950
(B) Land Rover Company of England in 1910
(C)  Ford Company of America in 1903

(D) Tata Company of India in 1980 . -

. is a software system, which is alse-known as Close Loop System.
(A) “Material Requiremefit Planning” — I (MRP-I) |

(B) “Manufacturing Resoutce Planning” - IT (MRP-II)

(C) “Just In Time” (JIT) | |

(D) None of these

Target costing s.based on

(A) Actualcost of product (B) Historical cost of product
(C) Market price of product (D) None of these
(12) At which stage of product life cycle, do sales and profit both increase rapidly ?
(A)" In Introduction stage (B) In Maturity stage
(C). InGrowth stage : (D) Allof these
8
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